RO DML IFEEZHL TN THIEL LD,

L ELE (48 k)
F B B BB B

[(BREkisE] FRYS ¢ S S S
% BITORE, BEAEHTDZ RN DRI EE20TEBERL THELLD.

OxMEtEELTZHEL £ 5.

(D3+5= D8+6= (339+24=
2 11+4= 189+T7= BHT+13=
B@9+1= 193+4= 3)4+24=
@8+4= Q) 1+8= 13+2=
B10+4= Q)3+9= 3)16+12=
©®19+3= Q4+5= 12+5=
(1)5+3= @20+2= 11+ 19=
®T7+4= @)15+5= @03+ 15=
96+6= 4+2= @)4+26=
104+4-3= 208+17= 428+8=
M6+12= Q4+1= @323+3=
@8+4= (283+19= @d15+T7=
13 15+6= 96+5= @529+4=
(145+8= 3024+-0= 368+18=
15 14+10= B)10+4= @)3+12=
165H+9= (3213+5= 16+4=

JO0D 0

https://somehow2.com/




